F 2.1-3

[bookmark: _GoBack]LO – To be able to carry out calculations with money.

2.1
1) £5.98 + £13.56 =


2) Add together £78, £89.50 and £1900.


3) £209.68 - £4.28 =


4) What is £94 les 223p?


5) 7 x £452


6) Find 9 x 89p in pounds.


7) How much would 6 chocolate bars cost at 75p each?


8) £200,00 ÷5 =


9) Divide £26 by 8.


10) Six people shared £287.88. How much did they get each?



2.2
11) Write £30,006 in words.


12) Write £90,090 in words.


13) What is £606,000 in words


14) Write twenty thousand and twenty pounds in figures.


15) Write one million, forty five thousand pounds in figures.


16) Write five hundred and five pounds and five pence in figures.






2.3
17) Peggy works in a tea shop and has added up the following bills. 
     She has made some mistakes.
     Check her calculations using a calculator and write down the correct amounts 

	Breakdown of the bill
	Peggy’s Total
	Correct Total

	2 x £3.45 plus £2.25

	£ 9.42
	

	3 x £1.67 plus 3 X 2.35 plus £2.20
	£12.06
	

	4 x £3.65 plus 3 x£ 1.95 plus £2.25
	£22.70
	




18) Peggy has estimated the following three bills. Use a calculator to work out the exact amounts.
	
	Breakdown of the bill
	Peggy’s Estimation
	Exact amount

	3 x £1.98
	£6
	

	2 x £6.78
	£14
	

	3 x £5.02
	£15
	



